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QUESTION 1

Which four actions can you perform by using features that are included in WLS management Pack EE? (Choose four.)
A. manage multiple domains centrally

B. perform in-depth JVM diagnostics

C. perform user-session diagnostics

D. trace transactions across multi-tier environments

E. perform disaster recovery operations

F. perform full session replay

Correct Answer: ABE

http://www.oracle.com/technetwork/oem/soa-mgmt/ds-em12c-wls-mgmt-pack-ee- 1552456.pdf(page 1)

QUESTION 2

Which three generational spaces make up the HotStop heap? (Choose three.)
A. Young Generation

B. Internal Generation

C. Old Generation

D. Permanent Generation

E. Persistent Generation

Correct Answer: ACD

QUESTION 3

You plan to deploy your Coherence application to a new production environment. You want to ensure that the new
environment supports multicast, and that all of the machines are connected to the same physical switch for optimal
performance. What two tools will help confirm that the new environment satisfies both criteria? (Choose two.)

A. Coherence MulticastTest

B. Coherence DatagramTest

C. Coherence Console

D. Coherence CohQL Command-Line

Correct Answer: AD
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http://www.oracle.com/technetwork/middleware/coherence/learnmore/oracle-coherence- 12c-deployment3049521.pdf

QUESTION 4

What is the first step towards creating an appliance?
A. introspection of an installed system

B. introspection of a VM template

C. fileset capture

D. template creation

Correct Answer: D

QUESTION 5

Identify three situations where Coherence is used (Choose three.)

A. to scale the amount of data accessed on the application or middleware tier
B. to offload shared services or databases on repeated reads

C. to accelerate complex RDBMS joins by storing data in memory

D. to reduce database load by batching and coalescing writes

E. to perform map-reduce aggregations of unstructured data

Correct Answer: BDE
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